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(i) FHYH-TH A FA13 T E |
(ii) QW TT G E | 9% G99 & GHET 3 Sl [HTTTE |
(iii)) FTYFT-YTH2 3B 35 T, 3 3H1 & 5 Fo7 TITE 3HI 3 F975 |
(iv) 2 37! 9151 F97 TG-ITRIT I97 & 79T 578 T 30-50 Fe5] & o |
(v) 3 37P] FTel Jo -3 F9 & 7T 579 I 50-80 5] 4 forw
(Vi) 5 P! 17 I3 G5 - eI 97 & aeT $9% IR 80-120 5] 7 g /|
(vii) Fo7-T7 F b1 5t FHR BT GHF fabcq 767 & | FIcAl, & JoH 4 Ik A
few 7w § | 9emreT 57 5 7 @ eicT Uk o BT E FHE |
(viii) 39 o7-YF 7 3a/Gld STERT 97 978 /|

1. == deh g FfaRad saa Hr iy i

FHTT: 3T % I TR I AR 1 HHIG STH T A Bt & I° 2

2. (a) dfyaes Iorar o fopedl @l BT Reh THTE T Jooild o | 2
sreran

(b) “Tad o = feregi €1 Tl 1 Sooka i | 2

3. ot Ty § S-S0 1 1 g Bl ®, I B bl WO hl HATERIRATSA] H B
TRE AT R |
T 319 ST T FH= | TaHd & ? ITYF doh GRT 7T I T FHL L | 2
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General Instructions :

(1) This question paper contains 13 questions.

(i)  All questions are compulsory. Marks are indicated against each
question.

(iti)  This question paper contains § questions of 2 marks each, 5 questions of
3 marks each and 3 questions of 5§ marks each.

(iv) 2 marks questions are Short Answer Type questions and are to be
answered in 30 — 50 words.

(v) 3 marks questions are Short Answer Type questions and are to be
answered in 50 — 80 words.

(vi) & marks questions are Long Answer Type questions and are to be
answered in 80 — 120 words.

(vii) There is no overall choice in the question paper. However, internal
choice has been prouvided in few questions. The candidates need to
attempt only one question from such questions.

(viit) This question paper contains Case/Source Based Question also.

1.  Justify the following statement with valid argument :

‘At higher levels of income people generally have lower Marginal

Propensity to Consume (MPC). 2
2. (a) State any two harmful effects of Global warming. 2
OR
(b) State any two advantages of ‘sustainable development’. 2
3. ‘In any country, as the income rises the composition of infrastructure

requirements changes significantly.’
Do you agree with the given statement ? Support your answer with

suitable argument. 2

3 E EI P.T.O.
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4. (a) IUIH ICTET G, TehNIcHe LTS TR ThRIcHeh STEATATS § 37 TIF Y | 2
AU

(b) ITIHI ITTET G, Tieh T o JaITg = T ST T h | 2

5. (a) U Hloueh FAEEYT & TTC 311 & Her Tl <6 ToET e, Forees s’ | 918 9
2w
() A fEw () =2 10,000 FUS, T
(i) 39 Ber; C = 2000 + 0.75Y;

& C =39 g Y = 31 2
e
(b) Tk HIcleh Irefegaedt & fou 3/ § aftadd (AY) 1 oMt Y, fSEes IR 4 98
g, 6
() TEw ¥ afEda (Al =% 5,000 HUS
(i) €T 3u wafa (MPC) = 0.75 2

6. (a) T I TN Wifgeh Hehel TT] IcUTG h Yoo 1 STTHM TR, Tafh I8
T & o amEafareh dehel Te] IS 9 Hoof Haehih shUsl: T 500 FUS T 125 8 | 3

Jreran
(b) T HRN g wE K fop, Frfafaa @ & o wwa 6 ufe s O gffufera &
FM 2
() o wih IR | ¥ ffiee & 379 (Shares) 1 T fHawms gRI1 @ |
(i) ST R AR qaTaTE g TR k] S adH 1 A |
(i) dofira FUfERIT O HHT GRT SRR T easTe 3

7. U HIch IETE0T R, Teh refeareen | farst 1ureh i sriyvmedt ot foammr &t | 3
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4. (a) Using a suitable example, distinguish between positive externalities
and negative externalities. 2
OR
(b) Using a suitable example, distinguish between stock variables and

flow variables. 2

5. (a) Calculate equilibrium level of income for a hypothetical economy for
which it is given that :

(i) Autonomous Investment (I5) =% 10,000 crores, and

(1) Consumption Function; C = 2000 + 0.75Y;
where C = Consumption and Y = Income. 2
OR
(b) Calculate, Change of Income (AY) for a hypothetical economy, for
which it is given that :
(1) Change in Investment (AI) = 5,000 crores.
(11) Marginal Propensity to Consume (MPC) = 0.75. 2

6. (a) Estimate the value of Nominal Gross Domestic Product (GDP) for a
hypothetical economy. The values of Real Gross Domestic Product
(GDP) and Price Index are given as I 500 crores and 125
respectively. 3

OR
(b) Giving valid reasons explain, which of the following will not be
included in the estimation of National Income of India ?
(1) Purchase of shares of Sethi Ltd. by an investor in the Bombay
Stock Exchange.
(11) Salaries paid by Indian Embassy situated at Japan, to the local
workers.

(i11) Depreciation on capital assets charged by firms. 3

7. Using a hypothetical example, elaborate the working of investment

multiplier in an economy. 3
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8. <t g T H ¥ TRl g1 Tehashl o MTUR W WA 9 = <t ey fRufa < qorn i

[EESLUETE
31 P o 1Y HARA R T (TR Toheleh) (2015-17) 3
GqEan
(i) | T 7eg 2 /1000 Siferd s 34 | 8 57 | 15
(i) | 59| FHH TG /1000 Sfferd 3 39.4| 93 | 66 | 88
(iii) | frgrsti &1 debreReer (DTP) % | 88 | 99 95 99
(iv) | O W = (GDP & % o &9 H) 39 | 5.7 | 168 3

|rd : HDI 2018 9 WDI 2018.

9. g A refegaren d yufdd Thifasr sate 1 feufa o faged o fog fafir susmon &
39T T g fezm o 1

Teh hTcui-eh JTefegeret § Ehifaeri) STauet i feufd o s=M o foru fondl &1 wifees ifa
I T Ieoid d U Y | 5

10. (@) “grel % ferl § WA ShR 7 WK ferfepean wgfa i gmsiifea o el s &
foTT AUl HeH 3B E |7
AT 37T fEU TTC U= | TgHd & 7 T HRUN gRT 379 I hT i i | 2

(i) “hriEe 1 ATNTARIHT W FAfeqae i ueh foearf grean @ 2 17 9=
Teht g feu TTe e 7 gfy o | 3

6 E;m

Get More Learning Materials Here : & m @&\ www.studentbro.in



8. Compare and analyse the health status of India and China, on the basis of

any two indicators from the given schedule : 3

Indicators of Health in India in Comparison with other nations, 2015-17.

S. No. Indicators India | China | USA | Sri Lanka

@A) Infant Mortality Rate/1000 live 34 8 5.7 7.5
Births

(i) Under-5, Mortality Rate/1000 | 39.4 9.3 6.6 8..8

live Births

(1i1) Infants Immunised (DTP) in % 88 99 95 99

@1v) Government Health spending | 3.9 5.7 16.8 3
as a % of GDP

Sources : HDI 2018 and WDI 2018.

9. ‘Keynes suggested the use of various tools to deal with the situation of

Inflationary Gap prevailing in an economy.

State and discuss any two monetary policy measures to combat the

situation of Inflationary gap in a hypothetical economy. 5

10. (@) ‘In the recent past the Government of India has taken vital steps to

revive and popularise Indian System of Medicine (ISM)’.

Do you agree with the given statement ? Justify your answer with

valid reasons. 2

(11) ‘Casualization of workforce has became a perennial problem of the

Indian economy.” Justify the given statement with valid arguments. 3

7 E EI P.T.O.
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11. (@) () Fe=faRed srieel & 3nur W, FeA AT W That TER 3T & oo i

TOMT Y 3
U 9. = W (X g H)
(i) | wfrent =1 urfeafies 12,000
(i) | frEn s &= 1,800
(iii) | ST 1,120
@iv) |&m™ 1,500
v) | TeFmE 1,100
(vi) | 39qH 210
(vii) | forcemi & yTed S T ST (=) 120
(vii) | @ffar 1 fuafda sm 1,300
(i) ot 3 Taredt § favg =t | 2
e
() () TeumTu TRl % STUR W, H1EF AT W G Yo Jfg h 0T i - 3
A 4. = [ 000 )
(i) | SR H =ree & s 580
(i) | SFT T UK HTHA 400
(1) | ISR g I BT shd 20
(iv) | o9 o GUH TS BT T-ITHRT 15
(V) | 3T I HETH I TWETE W T 20
(vi) | EEHR g W 3eteh 3UEH 3
(i) I b GeA’ 9 Yo aE § fadig L | 2

freferaa e o1 eagde STEaa i T I T 129 13 % IW S
o Y sreferaEen ® SR Y Tt ¥ SAferd Ut i WA — sefHe, 24 TR, 2021
< 61 srefedeee § Het o1 W Afvges frosrent shi SRt 9 iU 7 | =
It et weee (Real Estate) W YRar &0 ohid &1 Y@ L &1 @ | foega <t
HHt T TgET % HRon, 1 7 e & ot Srenfieht &= w1 fafEfia e amy
H e |
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11. (a) (1) From the following data, calculate the value of Gross National

Product at Factor Cost (GNPp() : 3
S. No. Items Amount in
R Crores)
1) Compensation of Employees 12,000
(i1) | Rent and Interest 1,800
(111) | Indirect taxes 1,120
@1v) | Profits 1,500
) Depreciation 1,100
(vi) | Subsidies 210
(vii) | Net Factor Income from Abroad (- 120
(viii) | Mixed Income of Self Employed 1,300
(i1) Distinguish between Rent and Royalty. 2
OR
(b) (@) Calculate the value of ‘Net Value Added at Factor Cost’ (NVAp.)
using the given data : 3
S. No. Items Amount in
X '000)
1) Sale of Rice in the market. 580
(11) Purchase of Tractor and Thrasher 400
(111) | Procurement of Rice by the government 20
(iv) | Self consumption of Rice during the year 15
V) Expenditure on running and 20
maintenance of Tractor and Thrasher
(vi) | Fertilizer subsidies received from the 3
government
(i1) Distinguish between ‘value of output’ and ‘value addition’. 2

Read the following test carefully and answer, Q. No.-12 and 13, given
below :

Chinese Economy Risks Deeper Slowdown than Markets
Realise — (Bloomberg, 24th October, 2021)

China’s Economy risks slowdown faster than global investors
realise. It is pushing to cut its dependence on real-estate. It has
started regulating sectors from education to technology, as it is
facing power shortage and the pandemic.

9 E EI P.T.O.
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%3 ARt 3 SduH a¥ § GDP gfg @ % 8.2% ek a1 AT a9 §
5% T = 3T T I < R |

= 319, ® gfg B FRR FE, FEHEA W HA FIE T GHEAT B
sreefes fafrmfor & o Y e 591 @1 R | Ta dwdrg S foRY T ree |,
et fommdt & GDP afig gt fawmel 6 7.9% & iRt 4.9% <t w8 2 | g
1 et & e Tt § whifers- 19 o 9 % SR T g 3R rfies 8wl 2 |

TEmR ¥ qd, K0 ARGH BT HH L b HROT Tgd & H et foepm @ @
refamert b1 rafera fepw gu ot | = % et off Sferam 3 o 9 st foa
o 6% A 3tfereh % Tt T1ed 1 €O <61 ® | =9 1 g1l % g%l 4, %o Hfaar
T &1 < % Hohd G B, S8 Th Shi G K < STedehTTeTeh TieaTe ¢l | diued
S 3T =TS o a2t T o BT &1 H a1 o7 foh, 32 39 9% 8% i Ifg & h!
AT g |

Hifag-19 HT 9 HH B = a1, 4 7 5t 31 & 2 | S faw |,
a5 framas gl S gfaur anbieer, stteferan, fuef, u& @ sefier 9@ gl o o
wiftw few@ré ¢ @1 R | i saman qeifyrn, g o ool S@ ugh w1 o gt
HLEHAT ¢ |

T 31 T I8 ¥t 2 T, =fiv & Hfifa Fmfarst =t 9w o o w s %
T g 1 ug Tehar @ | rnfeRi & TER faga i w5 % shafies
IcUTE 1 HH B TE 7, AT et 7 Fraw ° gfg @ oft ww @l | 38 yeR
&1 i 3Ter o vt T K Hehd! & STafeh forerd o foheeta s B8Rt |

12. =i srefegereen § |5} eiid ool fehedi €1 Uil o1 Seoi o 0 ot | 3

13. UH foregl 1 U <t =amen L, e 31 =fi9 o 37Tiiies TetrgehR o &9 | o d1 Jehd @ | 3
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Many economists have warned that the GDP growth rate will
fall to 8.2% this year and to below 5% in the next year.

China is now planning to stabilise debt growth, curb inequality
and channelise resources into hi-tech manufacturing. Data released
in last week already showed a sharp slowdown in third quarter GDP
growth to 4.9% from 7.9% in the previous quarter. There is more
pain likely to come as electricity shortage persist, while new COVID-
19 infections are expected to rise in coming days.

Even before the pandemic hit, China was surprising economists
with slower-than-expected growth rate caused by the easing off debt
risks. China’s Premier Li Keqiang, announced in March a growth
target of “above 6%” in the coming financial year.

China has signalled, in recent weeks that it could loosen some
policies like telling banks to pick up the pace of mortgage lending as
a short term stimulus. Governor of People’s Bank of China Yi Gang,
recently said he sees an expansion of about 8% for this year.

China’s slowdown comes as the global recovery from COVID-19
risks looses momentum. Among those at risks from falling
investments in China are commodity exporters like Australia, South
Africa, Chile, Peru and Brazil. Slower trades could also hit countries
like Malaysia, Singapore and Thailand.

The other risk is that China’s policy-makers may struggle to
flick the switch back to growth model if they feel that’s needed.
Economists noted that the electricity shortages that are crimping
industrial production will make it harder to cushion growth by
boosting investment in infrastructure. That kind of policy could only
work next year once the power crunch eases.

12. State and discuss any two reasons that exhibit slowdown in the Chinese

economy. 3

13. Discuss briefly any two measures, which you may suggest as an economic
advisor to the government of China. 3

1 2hi
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Strictly Confidential: (For Internal and Restricted use only)
Senior Secondary School Term II Examination, 2022
Marking Scheme — ECONOMICS (SUBJECT CODE — 030)
(PAPER CODE — 58/1/3)

General Instructions: -

1. You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you must
read and understand the spot evaluation guidelines carefully.

2. “Evaluation policy is a confidential policy as it is related to the confidentiality of
the examinations conducted, Evaluation done and several other aspects. Its’
leakage to public in any manner could lead to derailment of the examination
system and affect the life and future of millions of candidates. Sharing this
policy/document to anyone, publishing in any magazine and printing in News
Paper/Website etc may invite action under IPC.”

3. Evaluation is to be done as per instructions provided in the Marking Scheme. It should
not be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or
are innovative, they may be assessed for their correctness otherwise and marks be
awarded to them. In class-XI1, while evaluating two competency based questions,
please try to understand given answer and even if reply is not from marking
scheme but correct competency is enumerated by the candidate, marks should be
awarded.

4. The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in the
marking of individual evaluators.

5. Evaluators will mark( ' ) wherever answer is correct. For wrong answer ‘X’ be marked.
Evaluators will not put right kind of mark while evaluating which gives an impression
that answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

6. If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the
left-hand margin and encircled. This may be followed strictly.

7. If a question does not have any parts, marks must be awarded in the left-hand margin
and encircled. This may also be followed strictly.

8. If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out.

9. No marks to be deducted for the cumulative effect of an error. It should be penalized
only once.
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10. A full scale of 40 marks (example 0-40 marks as given in Question Paper) has to be
used. Please do not hesitate to award full marks if the answer deserves it.

11. Every examiner has to necessarily do evaluation work for full working hoursi.e. 8 hours
every day and evaluate 30 answer books per day in main subjects and 35 answer books
per day in other subjects (Details are given in Spot Guidelines).This is in view of the
reduced syllabus and number of questions in question paper.

12. Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on a reply.

e Wrong transfer of marks from the inside pages of the answer book to the title page.
e Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark
is correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks
awarded.

13. While evaluating the answer books if the answer is found to be totally incorrect, it
should be marked as cross (X) and awarded zero (O)Marks.

14. Any unassessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

15. The Examiners should acquaint themselves with the guidelines given in the Guidelines
for spot Evaluation before starting the actual evaluation.

16. Every Examiner shall also ensure that all the answers are evaluated, marks carried over
to the title page, correctly totaled and written in figures and words.

17. The Board permits candidates to obtain photocopy of the Answer Book on request in
an RTI application and also separately as a part of the re-evaluation process on payment
of the processing charges.
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MARKING SCHEME
Senior Secondary School Examination TERM-II, 2022
ECONOMICS (Subject Code — 030)
[Paper Code — 58/1/3]
Maximum Marks: 40
Q. No. EXPECTED ANSWER /VALUE POINTS Marks
L Justify the following statement with valid argument:

‘At higher levels of income people generally have lower Marginal
Propensity to Consume (MPC).”

At a lower level of income, a consumer generally spends a larger proportion of
his/her income on consumption expenditure (basic survival requirement). As
the income increases, owing to the psychological behaviour of a rational 2
consumer he tends to save more.

Hence, at higher levels of income people generally have lower Marginal
Propensity to Consume (MPC).

(to be marked as a whole)

2. a) State any two harmful effects of Global warming.

Two harmful effects of global warming are:

(i) Melting of Polar ice, resulting in rise in sea level and coastal flooding. 1

(i) Increase in incidence of tropical diseases. 1

(any other valid point/reason/argument should be awarded marks accordingly)
OR 2

(b) State any two advantages of ‘sustainable development’.

Two advantages of sustainable development are:

()  Minimises environmental problems.

(i)  Provides better potential average quality of life to all future generations.

(any other valid point/reason/argument should be awarded marks accordingly) 2

‘In any country, as the income rises the composition of infrastructure
requirements changes significantly.’

Do you agree with the given statement? Support your answer with suitable
argument.

Yes, as the income rises, the composition of infrastructure requirements
changes significantly.

° For low-income countries, basic infrastructure services like irrigation,
transport and power are kept on priority.

e  Aseconomies develop, most of their basic consumption demands are met,
the share of agriculture in the economy shrinks and more services related
infrastructure is required.

For example: Power, Transportation, Telecommunication and IT related
infrastructural services are needed more in high income countries.

(to be marked as a whole)
(‘any other valid point /reason/ argument is to be awarded marks accordingly)

XIl_110_030_58/1/3_Economics # Page-3
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4. a) Using a suitable example, distinguish between positive externalities and
negative externalities.

Positive externalities refer to benefits caused by one entity to another, without Yo
being paid for it.

Whereas, negative externalities refer to the harms caused by one entity to Y
another, without being penalised for it.

For example: A new park developed by the municipal corporation raises the

welfare of the locality, is an example of positive externalities. In case the same 1
park is used by people for anti-social activities which leads to insecurity among
the residents, is an example of negative externalities.
(any other example to be awarded marks) 2
OR
(b) Using a suitable example, distinguish between stock variables and flow
variables.
Stock variables are those variables whose quantity is measured at a particular 1,
point of time.
Whereas, flow variables are those variables whose quantity is measured over a Yy
period of time.
For example: Wealth is a stock variable and Income is a flow variable. 1
(any other suitable example to be awarded marks)
2
5. Calculate equilibrium level of income for a hypothetical economy, for

which it is given that:

(i) Autonomous Investments (l0)=% 10,000 crores, and
(i) Consumption Function; C=2000+0.75Y;

where C= Consumption and Y = Income.
Given, C =2000+0-75Y
I =% 10,000 crores
At the equilibrium level, Y =C + 1 ”
Therefore, Y =2000+0-75Y +10,000 Y,
Y —0-75Y =12000 1
Equilibrium level of Income (Y) =X 48,000 crores

Yo

2
OR
(b) Calculate, Change of Income (AY) for a hypothetical economy, for
which it is given that:
(i) Change in Investment (Al)= X 5000 crores.
(it) Marginal Propensity to Consume(MPC) = 0.75
Given, Al =X 5000 crores
MPC =0-75
As we know
Multiplier (K) = 1—11\/1PC = 1_;.75 = ﬁ =4 Y,

XIl_110_030_58/1/3_Economics # Page-4
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1
We know, K = % &

_AY Z

5000
Change in Income (4Y) = %20,000 crore Y2
2

6. (a) Estimate the value of Nominal Gross Domestic Product (GDP) for a
hypothetical economy. The values of Real Gross Domestic Product (GDP)
and Price Index are given as X 500 crore and 125 respectively.

Given,
Real GDP =2 500 crore
Price index = 125

Price index = ~yominal GDP ., l
Real GDP
Yo
Or, Nominal GDp = 222390
100 )

Nominal GDP =23 625 crore —
OR 3

(b) Giving valid reasons explain, which of the following will not be
included in the estimation of National Income of India?

(i) Purchase of shares of Sethi Ltd. by an investor in the Bombay Stock
Exchange.

(if) Salaries paid by Indian Embassy situated at Japan, to the local
workers.

(iii) Depreciation on capital assets charged by firms.

(i) Purchase of shares of Sethi Ltd. by an investor in the Bombay Stock 1
Exchange is a transaction, which is a mere paper claim and do not lead
to any value addition and thus will not be included.

(ii) Salaries paid by Indian Embassy situated at Japan, to the local workers 1
is a factor income paid to non-residents and thus will not be included.

(iii)Depreciation on capital assets is not included as it is a mere accounting
entry that is needed to accommodate regular wear and tear of capital. 1

7. Using a hypothetical example, elaborate the working of investment
multiplier in an economy.

The working of multiplier is based on the fact one’s expenditure is other’s
income. Suppose the increase in investment is by < 4,000 crore and marginal
propensity to consume is 0.5:

Yo
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Round | Increase in Increase in Increase in | Increase in
investment income consumption |  savings
(Al) (AY) (AC) (AS)
Zin (R in crore) (R in crore) | (X in crore)
crore)
1 4000 4000 / 2000 2000
2 — 2000 —+ 1000 1000
3 — 1000 47|, 500 500
/7 1%
4 — 500 250 250
—)>
Total 4000 8000 4000 4000
The above table shows that an increase in investment of % 4,000 crore leads to 1
a total increase of X 8,000 crore in income.
(any alternative presentation to be awarded marks)
Working Note:
K = ! = 1 = 1 =2
1-MPC 1-0.5 0.5
k=2
Al
= 4Y
~ 4000
AY = 8000 crore 3
(marks not to be deducted if working note is not given)
8. Compare and analyse the health status of India and China, on the basis of

any two indicators from the given schedule:
Indicators of Health in India in Comparison with other nations, 2015-17.

S.No. | Indicators India | China | USA Sri Lanka

(1) Infant Mortality 34 8 5.7 7.5
Rate/1000 live births

(i) Under-5, Mortality 394 |93 6.6 8.8
Rate/1000 live births

(iii) | Infants Immunised 88 99 95 99
(DTP) in %

(iv) | Government Health | 3.9 5.7 16.8 3
spendings as a % of
GDP

Sources: HDI 2018 and WDI 2018
Comparison of India and China on the basis of Health Indicators:
1) India has a higher Infant Mortality Rate (34/1000 live births) as
compared to China (8 /1000 live births) due to lack of health facilities.
2) India has as a higher Under- 5 Mortality Rate (39.4/1000 live birth) as | 1722
compared to China (9.3/1000 livebirths) due to malnutrition and lack of
access to healthcare facilities.
3) Infant immunisation (DTP) in % is higher for China (99%) as
compared to India (88%) because less than 20% of Indian population
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utilizes public health services.

4) Government health spending as a percentage of GDP is lower in India
(3.9) than China (5.7). India is showing a lower government spending
as percentage of GDP. It is much below the needs of the economy,
given the size of its population. 1

(any two valid points to be awarded marks) 3

9. ‘Keynes suggested the use of various tools to deal with the situation of

Inflationary Gap prevailing in an economy.’

State and discuss any two monetary policy measures to combat the

situation of Inflationary Gap in a hypothetical economy.

Two monetary measures to control inflationary pressures in the economy are:

(i) To deal with the situation of inflation, the Central Bank may increase
the repo rate. An increase in repo rate will force the commercial 21
banks to increase their lending rates which will make borrowing
costlier to the general public. Consequently, Aggregate Demand
will fall and help in correcting inflationary gap in the economy.

(i) To deal with the situation of inflation, reverse repo rate may be increased
by the Central Bank. It will encourage the commercial banks to park
their surplus funds with Central Bank. As a result, credit creating 2%
capacity of the commercial banks will be reduced. Consequently,
Aggregate Demand will fall and help in correcting inflationary gap
in the economy.

(any other monetary measure to be awarded marks)

10. (i) "In the recent past the Government of India has taken vital steps to
revive and popularise Indian System of Medicine (ISM)".

Do you agree with the given statement? Justify your answer with valid
reasons.

The given statement is true. Indian Systems of Medicine (ISM) have huge
potential and can solve a large part of health care problems because they are
effective, safe and less expensive. Under AYUSH project, the government has
stressed upon precautionary medication. 2

Recently serious efforts have been undertaken by the Government to set up a
framework to promote research in the field of ISM.

(i) "Casualization of workforce has became a perennial problem of the
Indian economy.’ Justify the given statement with valid arguments.

Casualisation of workforce has become a perennial problem for India because
of:

o Slower growth rate of employment in the organised sector.

o Rapidly expanding construction and allied services have led to
increase in demand for casual labour.

o Self-employed small and marginal farmers are becoming casual | 3
workers due to lower earnings in agricultural activities.

(to be marked as a whole)

11. (@) (i) From the following data, calculate the value of Gross National
Product at Factor Cost (GNPkc):
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S. No. Items Amount in
R Crore)
(i) Compensation of Employees 12,000
(i) Rent and Interest 1,800
(iii) Indirect taxes 1,120
(iv) Profits 1,500
(v) Depreciation 1,100
(vi) Subsidies 210
(vii) | Net Factor Income from Abroad (-)120
(viii) | Mixed Income of Self Employed 1,300
GNPgc = (i) + (i) + (iv) + (v) + (vii) + (viii) 17
=12000+1800+1500+1100+ (—)120 +1300 ;
=3 17,580 crore i
(i1)Distinguish between Rent and Royalty.
Rent is a factor income earned by the owners for lending their services such as 1
land, building etc.
Royalty is the income earned by a person /institution for lending Intellectual 1
Property Rights and rights of sub soil assets.
OR 5
(b)(i) Calculate the value of 'Net Value Added at Factor Cost' (NVAFc)
using the given data:
S. No. Items Amount
in(X '000)
(i) Sale of Rice in the market. 580
(if) | Purchase of Tractor and Thrasher 400
(ili) | Procurement of Rice by the government 20
(iv) | Self consumption of Rice during the year 15
(v) | Expenditure on running and maintenance of 20
Tractor and Thrasher.
(vi) | Fertilizer subsidies received from the government 3
NV Ape = (i) + (iii) + (iv) -(v) +(vi) 1%
= 580 + 20 + 15-20 +3 1
=3 598 thousand Yo
(i) Distinguish between *value of output' and ‘value addition’.
Value of output is the estimated money value of final goods and services, 1
inclusive of change in stock and production for self-consumption.
Whereas, Value added is the excess of value of output over the value of
intermediate consumption. !
5
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Case Study:
Read the following text carefully and answer, Q. No.-12 and 13, given
below:

Chinese Economy Risks Deeper Slowdown than Markets Realise -
(Bloomberg, 24th October, 2021)

China's Economy risks slowdown faster than global investors realise. It is
pushing to cut its dependence on real-estate. It has started regulating
sectors from education to technology, as it is facing power shortage and the
pandemic.

Many economists have warned that the GDP growth rate will fall to 8.2%
this year and to below 5% in the next year.

China is now planning to stabilise debt growth, curb inequality and
channelise resources into hi-tech manufacturing. Data released in last
week already showed a sharp slow down in third quarter GDP growth to
4.9% from 7.9% in the previous quarter. There is more pain likely to come
as electricity shortage persist, while new COVID 19 infections are expected
to rise in coming days.

Even before the pandemic hit, China was surprising economists with
slower-than-expected growth rate caused by the easing off debt risks.
China's Premier Li Kegiang, announced in March a growth target of
""above 6% in the coming financial year.

China has signalled, in recent weeks that it could loosen some policies like
telling banks to pick up the pace of mortgage lending as a short term
stimulus. Governor of People's Bank of China Yi Gang, recently said he
sees an expansion of about 8% for this year.

China's slowdown comes as the global recovery from COVID-19 risks
looses momentum. Among those at risks from falling investments in China
are commodity exporters like Australia, South Africa, Chile, Peru and
Brazil. Slower trades could also hit countries like Malaysia, Singapore and
Thailand.

The other risk is that China's policy-makers may struggle to flick the
switch back to growth model if they feel that's needed. Economists noted
that the electricity shortages that are crimping industrial production will
make it harder to cushion growth by boosting investment in
infrastructure. That kind of policy could only work next year once the
power crunch eases.

12. State and discuss any two reasons that exhibit slowdown in the Chinese
economy.
Two reasons exhibiting the slowdown in Chinese economy are
(i) Investment in China is expected to fall due to fall in demand from 1%
commaodity exporters such as Australia, South Africa, Chile, Peru and
Brazil.

(i) Electricity shortages crimped industrial production; it will make it 1Y%
harder to cushion growth by boosting investment in infrastructure.

(any other valid point/ reason/argument to be awarded marks) 3
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13. Discuss briefly any two measures, which you may suggest as an economic
advisor to the Government of China.

Two measures to curb the situation may be quoted as:

(1) Suggesting banks to pick up the pace of mortgage lending as a short-term 1%
stimulus.
(i) Planning to cut dependence on real estates and regulate sectors from
education to technology. 1%
3

(any other valid point/ reason/argument to be awarded marks)
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